
Spiel 1 Spiel 2 Gesamt

Spiel 087 19:08 G 1 EXENBERGER Johann 54 + 52 = 106

G 2 HINTERSTEINER Hubert 63 + 59 = 122 # #

Spiel 089 19:26 G 3 OFENBERGER Leo 52 + 57 = 109 O #

G 4 STOLZ Leopold 56 + 69 = 125 O #

Spiel 091 19:44 G 5 KILLINGER Patrick 55 + 49 = 104 #

G 1 EXENBERGER Johann 48 + 49 = 97

Spiel 093 20:02 G 2 HINTERSTEINER Hubert 60 + 60 = 120 #

G 3 OFENBERGER Leo 60 + 59 = 119 O

Spiel 095 20:17 G 4 STOLZ Leopold 60 + 60 = 120 # #

G 5 KILLINGER Patrick 60 + 63 = 123 # O O O #

Spiel 097 20:34 G 1 EXENBERGER Johann 55 + 55 = 110 O #

G 3 OFENBERGER Leo 56 + 66 = 122 # O #

Spiel 099 20:52 G 2 HINTERSTEINER Hubert 61 + 57 = 118

G 4 STOLZ Leopold 55 + 61 = 116 #

Spiel 101 21:09 G 3 OFENBERGER Leo 57 + 54 = 111

G 5 KILLINGER Patrick 62 + 47 = 109 #

Spiel 103 21:24 G 4 STOLZ Leopold 46 + 61 = 107 # #

G 1 EXENBERGER Johann 61 + 54 = 115 O O

Spiel 105 21:42 G 5 KILLINGER Patrick 60 + 46 = 106

G 2 HINTERSTEINER Hubert 52 + 62 = 114 #


